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a + 346 = 12
751 —y =179
15 - a = 30
y:26=0
100 : € =2
X + 27 = 27
2b + x = 35
x:36 =1
126-a = 0
17 - b =0
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Ne BapuanT I BapuaHnrT Il Bapuaurt Il
1 358 -y =263; 435:x =29; 541 -a =433

2 12-x =144, 4-y =380, 11-5=1045;

3 a9=12; 401 -2z =389; 789 + d = 906;

4 844 + ¢ = 943. t +327 =435. 180:¢ =15.
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1) 136 —x=128;
2)17 -y =102;
3)x + 342 =351
4)x:2=18;
5)72 :y=6;
- O6)x-7=4,
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1. Haiimute 3Ha4Y€HHs BHIPOKCHHI

NOOHBIM CIIOCOOOM:

a| 354+10839+546+21; a | 57-756-57-256;

6| 32-143+157-32; 6 | 25-591-4;

B| 5-736-2; B | 784+ 23843 +216+57;
2. Peninte ypaBHEHHS:

a|l 1036 -y =693; a | a+3843=4261;

6| 13-x=1404. 6 | b:201=3417.
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